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P/F <300

PEEP or CPAP 25 cm H20

CXR or chest CT show bilateral opacities not fully
explained by effusions, lobar/lung collapse or
nodules

Respiratory failure not fully explained by cardiac
failure or fluid overload

ooo

(]

lA = No or Unknown

O S/F <3150RP/F <300

QO Chest ultrasound OR Chest CT or CXR show
bilateral opacities not fully explained by effusions
lobar/lung collapse or nodules

O Respiratory failure not fully explained by cardiac
failure or fluid overload

C-1 = No or Unknown

A A

O New onset of all 3 of the following:
O Cough
O Shortness of breath
O Difficulty breathing
O Tachypnoea
O Increased work of breathing
O Hypoxemia (e.g.cyanosis)
O Abnormal lung sounds bilaterally
AND
O No alternative explanation (X) for the acute illness
such as fluid overload, cardiac failure or pre-
existing condition like chronic lung disease

A= E. Days from clinical
Yes insult or new or
#] worsening symptoms
to ARDS onset
C1l=
Yes E. Days from clinical
> insult or new or
worsening symptoms
to ARDS onset
D =Yes AND
X =No E. Days from clinical
> insult or new or

worsening symptoms to
ARDS onset

D=NoOR X = Yes

< Level 5: NOT ARDS >

D = Unknown

Level 4: a reported ARDS event with insufficient
evidence to meet levels 1, 2 or 3 case definition

& SPEAC

Level 1-A: ARDS
(definitive case)

Level 1-B: ARDS
(definitive case)

Level 2-A: ARDS
(probable case)

Level 2-B: ARDS
(probable case)

Level 3-A: ARDS
(possible case)

Level 3-B: ARDS
(possible case)

Acronyms and Abbreviations
P/F = Pa02 / FiO2.

Note: where altitude is >1000 meters, apply a correction factor as
follows: P/F = [Pa02/FiO2 x (barometric pressure/760)]

Pa02 = partial pressure of oxygen in arterial blood (mmHg)
FiO2 = inspired fraction of oxygen

S/F=5p02/Fi02

Sp02 = peripheral capillary oxygen saturation (%)

PEEP = Positive End Expiratory Pressure

CPAP = Continuous Positive Airway Pressure

CXR = Chest X-Ray

CT = Computed Tomography

US = Ultrasound
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B. Meets all of the following criteria: Level 1-A: ARDS Acronyms and Abbreviations
O P/F <300 OR S/F €264 OR Ol >4 OR 0S| 25 _ definitive P/F = Pa02 / Fi02.
O PEEP or CPAP 2 5cm H20 " E. Days from clinical (definitive case) . . :
O CXR or chest CT show new infiltrate(s) consistent Yes insult or new or Note: where altitude is >1000 meters, apply a correction factor as
with acute pulmonary parenchymal disease =] worsening symptoms follows: P/F = [Pa02/FiO2 x (barometric pressure/760)]
O New infiltrate not related to fluid overload or to ARDS onset - Level 1-B: ARDS Pa02 = arterial partial pressure of oxygen (mmHg)
cardiogenic edema . (definitive case) . .
FiO2 = inspired fraction of oxygen
B = No or Unknown S/F =Sp02 / Fi02
v
C-2. Meets all of the following criteria: SpO02 = peripheral capillary oxygen saturation (%)
L e : Level 2-A: ARDS
O P/F <300 OR S/F <264 OR Ol 24 OR 0SI 25 C-2= \ (probable case) PEEP = Positive End Expiratory Pressure
O PEEP or CPAP =5 cm H20 .
E. Days fi /| I - - ; - ;
8 Chest US shows new infiltrate(s) consistent with Yes ini:‘lslt rnormne::zlrca CPAP = Continuous Positive Airway Pressure
acutg pglmonary parenchymal !ilsease worsening symptoms MAP = Mean Airway Pressure
O New infiltrate not related to fluid overload or to ARDS onset Level 2-B: ARDS
cardiogenic edema (probable case) Ol = Oxygenation Index = (MAP x FiO2 x 100) / PaO2
0SI = Oxygen Saturation Index = (MAP x FiO2 x 100 ) / SpO2
C-2 = No or Unknown
CXR = Chest X-Ray
D. Meets all of the following clinical criteria: CT = Computed Tomography
O New onset of all 3 of the following: US = Ultrasound
O Cough D =Yes AND
O Shortness of breath X = No L Lovel 3-A: ARDS
O Difficulty breathing E. Days from clinical (possible case)
O Presence of all of the following on physical exam: mst_:lt or new or
O Tachypnoea worsening symptoms to
O Increased work of breathing ARDS onset Level 3-B: ARDS
O Hypoxemia (e.g. cyanosis) 2=y, ossihle.case
O Abnormal lung sounds bilaterally s (-‘?d p )
Ay, .’
AND
O No alternative explanation (X) for the acute illness
such as fluid overload, cardiac failure or pre-
existing condition like chronic lung disease
D=NoORX=Yes D = Unknown
A A
< Level 5: NOT ARDS > Level 4: a reported ARDS event with insufficient
evidence to meet levels 1, 2 or 3 case definition
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